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‘The data show the bug chirps per minute at different temperatures. Find the regression
‘equation, letting the first variable be the independent (x) variable. Find the best predicted
temperature for a time when a bug is chirping at the rate of 1034 chirps per minute.
Chirps in 1 min | 1056 1065 1240 873 1113 930 =
Temperature (°F) [789 874 922 65 826 721

‘What s the regression equation?

[+ [k (Round to four decimal places as needed.)

‘What is the best predicted value?

%[ ]°F (Round to one decimal place as needed.)





SR S

b

[ T —




